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[image: ][image: ]LO: I can multiply a four-digit number by a 2-digit number.


	1

20

2    5    9    1   4



She forgot to place 0 to show the product of a multiple of 10 (40) so she only multiplied 2541 by 4.

She forgot to add her exchanged thousand on the (2541 x 2) row.






1234

1234

20

6


3    2    0    8   4


106,722
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2   1   4   2
4   2   8   4
  8   5   6   8    0
 9   8    5   3    2
7   x   1    2   =    8   4
  4

4   6   x
1   2   8   5   2
  8   5   6   8    0
 9   8    5   3    2
1   2   8   5   2
2   3   x
1   5   1   2
 3   0   2   4    0
3    7   8
8    4   x



 3   1   7   5    2

When you halve one factor and double the other factor, the product stays the same. 

31,752


[image: ]
[image: ]	

	

You could have created lots of different calculations! Check your answers with a calculator. 



98,424


Remember, this means ‘getting larger’, so from smallest to largest 



31,928


2456 x 13 = 31,928
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	Whitney 


	 4680points x 12games = 56,160 points
2512points x 24games = 60,288 points



4,128 points






All of the missing digits are 8! I think the simplest way to approach this was to work through it as if you were calculating, starting with the ones. You can see that your total was 72 ones. So you know that ‘some ones  x 9 = 72’ 8 x 9 = 72
Then move through the calculation, working out missing boxes as you go. The next missing box you would come to is 8 (now that you know the second factor is 28) x an amount of hundreds = 64 hundreds (remember you wouldn’t have added on your 5 exchanged hundreds from your tens column yet). You know that 8 x 8 = 64, so 8 x 8hundreds = 64 hundreds. 
Next, you would come across the missing box representing ’20 x 9 =’ Hopefully you calculated the answer as 180. 0 in the ones, 8 tens and 1 hundred exchanged.  
Finally, you needed to add together the ‘thousands’ from the parts of the product to find the total product. 2 thousands, plus 5 thousands, plus your exchanged thousand from the hundreds = 8 thousands. 
Well done if you worked this all out  
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o Work out the multiplications.
a) 4,284 x 23 b) 2,142 x 46

What do you notice?
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@) Using all the digit cards, create 4 different calculations and work
out the answer to each.

b) Write your answers in ascending order.

€) What is the smallest product that can be made?





image6.png
e A machine makes 2,734 boxes every hour.
The machine works for 3 hours each day.

a) How many boxes will it make in 12 days?
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Teddy has spilt some paint on his
calculation.

What are the missing digits?
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© Anmir scores 4,680 points in @ computer game for 12 games in a row.
Whitney scores 2,512 points every game for 24 games.

Who scores more points?

How many more?
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° Complete the multiplication.

102 3 4
x 21
313 a23ax| |
2046 8 0 (1,238 )
[IT1T1
o Tommy is calculating 1,234 x 26
@) Complete his working out.
12 3 a
x 2 6
7, 4,0, 4 ( x )
2046 8 0 ( « )

b) Fill in the grid to check Tommy's working is accurate.
‘You may use place value counters to help.
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© Fosic is colculating 2,541 x 42

Here is Rosie’s working. 541x2)
,541 x

,541 x 40)
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a) Rosie has made two mistakes. What are they?

b) What is the correct answer?
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° Work out 378 x 7 x 12
Show your method clearly.
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